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Instructions :

(1)

(i1)
(iii)
(iv)

(v)
(vi)

There are 28 objective type questions from Question No. 1 to 5. Each question carries
1 mark.

Question No. 6 to 12 are very short answer type questions, total 7 questions.

Each question carries 2 marks. Word limit 30 words approximately.

Question No. 13 to 16 are short answer type questions, total 4 questions. Each question
carries 3 marks. Word limit 7S words approximately. '

Question No. 17 to 20 are long answer type questions, total 4 questions. Each question
carries 4 marks. Word limit 120 words approximately.

Internal options are given from Question No. 6 to 20.

Draw neat and clean labelled diagram wherever required.
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(i) wrafes soviET & — Ir:
(a) sTEwETY (b) wraTErd
(c) waterll (d) TEHEA O
(i) wam whwfas fFm g e zmm arE gen? .
(a) ufrferfera (b) wEE

(c) wwHRwl TEeEEd  (d) A wed
(iii) fRsit srawen N g i R a9 w7

(@) 0—11=d (b) 12— 18 74
. (c) 19-45qd @) 45 — 70 @
(iv) S ¥ seeA s ¥ qe: yr B €7
(a) = W (b) & =W
(c) =T |{IT (d) dra T oo
(V) s AT A AR FA AW o e -
(@ LH (b)® TSHiN '™
(c) ACTH (d) STH
(vi) Fe # T deE-ga F AR oA @ gf W el
(a) dmis & ()
(c) aremTET (d) P
Choose and write the correct option : 1:“3,'
(i) Primary consumers are — e C_.‘.;
(a) Herbivorous (b) Camivorous
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(1) Wqﬁmﬂ%;ﬁ:&mmﬂﬁmm%,mw@ﬁ?ﬁmﬁ
l

(D) =t B W pevrem (grafen) o, frdt s wodd 3 siftrar
- W%T‘:“_______Eﬁsﬁ 4l

(iif) SIY S - 1 1 ) o
(iv) SgF@iie-A &1 gares

1%6=6

AE Had H Twar T &)

(V? W%&mﬁmmﬁmgw & qarF faEe ¥
(Vi) i, stremters, =maefe o gt &9 @ o B9 @ e
B

Fill in the blanks with correct answer :
(1)  When human "need" is turned to "greed", it leads to
of natural resources.

(i1) If any protein encoding gene is expressed in a Heterozygous host,
it is called X

(ii1) DNA is charged molecules.

(iv) Cyclosporin-A is produced by the fungus -

(v) Placental wolf and Tasmania wolf similar to a corresponding

(vi) Physical, emotional, behavioural and social well being refers to

3 g | s\ fafao - 1%6=6
(i) =gferd ov feERISEs H1 U6 WAl qghd ¢
(i) &t et AESE T A
(iv) TET (ADA) &1 FHI H TR AHY S FARTT & B &
(v) A & HAREr O e & S g $l
(vi) ®m T FENAAREr % dr afTe I a1 S TR &
Write True / False : :
(i) Carpus luteum is found in Testis. :
(if) Nucleic acid are’{_;lpng polymen:‘. of nucleotides.
(iii) All microbes are not pathogenic. |
(iv) ADA deficiency can be cured by L}f!?n.]:)hoc.ytas_
(v) Malaria discase is caused by Plasn??dlum in human. S
(vi) Lichen represent an intimate parasitic relationship between a

fungus and a cyanobacteria.
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4 wh AH g fafao ,u;i 1x5=5
(i) T (a) M E9 b
(i) =if (b) afevr wra =
(iii) 2 (¢) WA HH 3
(iv) T (d) e
(v) S9ETeT (e) ®H FHd "
Match the correct pair and write ; L)
(1) Apomixis (a) Galapagos Islands® t?
(i) Darwin (b) Southern India: o
(iii) Toddy (c) Sea weeds: 3
(iv) Agarose (d) Earthworms o
(v) Detritivorous (e) Grass fnmiiyi
5 uFamE | 9= ¥ s @ ?;,115:_5

V(i) 99T T BE-ET NI e @B TEAT SO E 7 :
(i) @ (wierey) By sed &7 SRR
(iii) #¢ T TR R fifEg) =
(iv) wftress demgs &1 &7 -
(v) @@ ¥ 3w feed S9 fafmem e wiez 2
Answer in one word / sentence : 2]

un




10

v
Ml
U W A a0 fx Wt mr @ g fafa)
Define Monohybrid cross and Dih;.lhnd Cross.

m,! OR
WTE A qar s i @ qﬁ‘n‘m‘r ferftara |
Define Dominant gene and Recessive gene.

' | ",
FoAu. iy aftwmar fafaa) \

Define DNA. | v
Fga /| OR
SuAE, Y gfvemyy fafe | &

g
Define RNA. (=

frafafas i & Jrome & A e
(1) zEwEs (2) =t

Write the name of Pathugcns of l]y: following diseases :

(1) Typhoid (2) Pneumonia
ﬂﬂ'ﬂ '/ OR

UH FHaE WA & A [E, ﬁwﬁnﬁﬁﬁw%mﬁ?ﬁmmtl

TEE G A w7

r‘-p-r‘!'

- Name a species of fungus which is 1;15’5& in the pmduchnn of thn antibiotics.

Who discovered it? A
i
Faw G H 4 e fafem

-

‘Write two advantages uf Tisaur.i:

e el
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Draw linear representation’of trophic levels of an ecosystem.

._ﬂ Fq@ /[ OR
ARRAH HEVT UH IEEOT wivd ausned |

Explain Ex-situ conservation with one example.

Wﬁm%@%mﬁtﬂmmﬁam e 3 ATie wafia & -

(1) @2\_‘[‘[ l.“;u
(2) gt ™
(3) wwiHT -

Draw a diagram of inngtudmal section of an embryo of grass with three
labelling : W

(1) Scutellum o
(2) Coleoptile

(3) Radicle

Write one function each of the following :
(1) Corpus luteum '
(2} Acmsnme

..:-cz-ﬁ:"\.m uﬂ;"'r.- )

I METINED
il 55
» -"I.i-

r diaeram with the syvmbol
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17

Draw a labelled diagram of Antibody mnlegqle.

@ / OR f"

ﬁﬂﬁlﬁaﬂlﬁﬁmwmaﬂqﬂmﬂrﬂﬁ%mﬁ@m@waﬂm.
(1) Aar gy O

(2) %brag gerar

(3) uftwTEET

Write the name of drugs obtained from following plants and write one
adverse effect of drugs on the body : :'2

(1) Papaver somniferum =i
(2) Cannabis sativa g
(3) Erythroxylum coca i}
-

U wiithafes o § T @ eyl o asEg) 3
Draw an ldeal Pyramid of Energy in a er:_u%;_fistgm.

dqga [/ OR )
qiesr 9999 &= t?-mﬂﬁtm#wiqjhmﬁ
What are sacred groves? What is their mleéi? conservation?

: u)
HUESAA U O W St fafaa) (@ =)o 4
Write differences between Oogenesis and Spermatogenesis. (Any four)
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() P "

(i) - weref S
Write notes on the following ; «

(i) Vaccination L

(i) Allergy |

| st [ OR
AT T A A Freien fgelt & ST 9T @I
(i) oz M

(i) s &

(iii) - wreeT i

(iv) ST o

Describe Cancer disease on the basis of following points :
(i) Tumour

v
(ii) .Detection G
(iii) Causes i
(iv) Treatment o
o

20 YFET DNA &% %1 3999 R e AR | 4

Explain Recombinant DNA Technology with proper diagram.




